INTEGER CEERT SHEET

Integers- A set of positive and negstive
on a humber line.
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Absolute Value- The distance a number is from zero on the number- line. An absolute value is
never hegative. Examples: |-51 =5 and [51 =5
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5 / RPPING INTECERS

SAME SIGN- Add ahd Keep the Sight

Add the absolute value of the numbers and
keep the same sign.

(positive) + (positive) = Positive
(+4) + (+5)=+9
(negsative) + (hegative) = Negative
(-4)+(-5)=-9

DIFFERENT SIGNS- Subtract and Keep
the Sigh of the Bigger Number?

Subtract the absolute value of the numbers

and keep the sigh of the bigger number-.
/" RULTPLYING NTECERS )
SAME SIGNS- POSITIVE

Multiply the numbers. Answer will be positive.

(-4)+ (+5)=+1
(+4)+ (-5)=-1

(-5) x (-5)= +25

DIFFERENT SIGNS- NEGATIVE
Multiply the numbers. Answer will be hegative
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Do not subtract Integers. You must
change the signs:
*Add the Opposite®

KEEP- Keep the sigh of the first number

CHANGE- Change the subtraction sigh to
addition

Flp. . - Fi the sigh of the second
humber to the ’;pposite Sign Ifitis
positive- change to hegative. If itis
hegative- change to posttive.

(+4)-(-4)

Keep change flip
(+4) + (+4)

NOW USE THE RULES FOR ADDING:
SAME STGN- Add absolute values and keep

Sign:

(+4)+ (+4)=8

" PIVIPING INTEGERS
SAME SIGNS- POSITIVE

Divide the numbers. Answer will be positive.

(-5) = (-5)= +1

DIFFERENT SIGNS- NEGATIVE
Divide the numbers. Answer will be negative

.

(+5) x (-5)= -25
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\ (+5) + (-5)= -1 J
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AddingIntegers(A)

- Use an integer strategy to find each answer.

| (2)+(+8) = 2 (+#9) + (+7) = z, (+7)+(-1) =
g (+3)+(+1) = 5. (+7) +(+5) = 4, (-5)+(+9) =
7 (+2)+(-5) = 5.(-1)+ (+3) = 7 (+8)+ (+4) =
0. (-7) +(-2) = )1, (-6)+ (-7) = 2. (+7) + (+8) =
/3. (-4) +(+3) = 4 (-2)+(-6)= 5 (+9) + (-4) =
/6. (+7)+ (+3) = /7. (-5) +(-9) = J8. (-5) + (-6) =
jg (-9 +(-4)= 20, (-5)+ (+4) = 24, (-3) +(-9) =
22. (D +(+1) = 23 (1) +(-8) = 24 (-7) + (-4) =
24 (D +(+4)= 26, (¢ + ()= 27, (-6)+(+9) =
75 (A + (1= 27 (+9) + (+3) = 30, (+2)+(-5) =
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~ Subtracting Integers (A)

Use an integer strategy to find each answer.

I (-6)- (+2) = 2.(-3)-(+8) = 3. (+5)- (-5) =
4.(-:9)- (-8) = 5.(+9)- (-4) = 6.(+6) - (-9) =
7.(-6) - (+6) = g (+8)-(-7) = G.(+7)- (-5) =
10 (-8) - (-8) = J). (-6) - (+3) = /2. (+2) - (+1) =

3. (+5)- (+1) = 14 (-3)- (+4) /5. (-6) - (+3) =
1, (+6)- (-2) = 7. (4) - (+3) = /8. (+2) - (+9) =
19, (-3) - (+5) = 2. (-6)- (+1) = 74, (+1)-(+1) =

72, (-8)-(+5) = 23, (+8) - (-8) = 24 (-2) - (—?3) -

25.(:9)-(-4) = 26, (+1) - (+4) = 27.(+3) - (+4) =

24 (+1)-(+3) = 29 (+7)-(+9) = 30 (+8)-(-9) =
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Multiplying Integers (A)

Find each product.

2. (-5)x1=
4. (=T)x5=
é. 3x4=

g 8x(-3)=
/0. Tx8=

12. (—4)x2=
4 4x4=

L. 3x(=1)=
19 3x(=2)=
20. 3x(=9)=
72. O0x8=

24 (=2)x5=
26 8x9=
23 (-2)x1=
20, (F2)x(=3)=
32 (1)
34 (—2)
34. (=5)
39. (=5)
Lo (—8)
&2, 3xX2=
24, (-3)
4. 8x(—17)=
49 (-9)x2=
50 Tx2=
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Dividing Integers (A)

Find each quotient.

[6 45+5=

29, (10)+(=2)

iy 14+7=
s4g T+1T=
4g 16+-8=
%p. (=56)+8=
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Name : Score :
Teacher : Date :
Solve the Equations
1) -60 = 5¢ e)$=4
2) 66 = -6x 7) -4f = 40
3) 8 = a-7 8) d-5 = 8
4) -5 = ¢ 9) -8 =-2+k
5) 4 =-7+y 10) 2b =-18
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